
R O C K A W A Y
b y  M a r i n  S t o r e y

• •

YARN
	 S	 M	 L	 XL	 XXL	
To fit bust	
	 81-86	 91-97	 102-107	 112-117	 122-127	 cm
	 32-34	 36-38	 40-42	 44-46	 48-50	 in

SIZE
Rowan Finest
	 7	 7	 8	 9	 10	 x 50gm
(photographed in Temptation 003)

NEEDLES
1 pair 2¾mm (no 12) (US 2) needles
1 pair 3¼mm (no 10) (US 3) needles

BUTTONS – 6 x BN1365 (15mm) from 
Bedecked. Please see information page for contact 
details.

TENSION 
34 sts and 36 rows to 10 cm measured over patt, 
32 sts and 38 rows to 10 cm measured over double 
moss st, both using 3¼mm (US 3) needles. 

Pattern note: As the number of sts varies whilst 
working patt, count sts after patt rows 1, 2 and 
4 only. All st counts given relate to the basic 
number of sts and do NOT take into account any 
sts lost whilst working patt row 3.When shaping 
through patt, inc as required to return the number 
of sts to their original number.

BACK  
Using 2¾mm (US 2) needles cast on 147 [163: 183:
205: 227] sts.
Row 1 (RS): P1, *K1, P1, rep from * to end.
Row 2: K1, *P1, K1, rep from * to end.
These 2 rows form rib.
Cont in rib for a further 22 rows, ending with RS 
facing for next row.
Change to 3¼mm (US 3) needles.
Now work in patt as folls:
Row 1 (RS): K0 [0: 2: 0: 0], P0 [0: 1: 0: 0], K1 
[2: 2: 2: 0], P1 [1: 1: 1: 0], *K3, P1, K2, P1, rep from 
* to last 5 [6: 2: 6: 3] sts, K3 [3: 2: 3: 3], P1 [1: 0: 1: 0],
K1 [2: 0: 2: 0].
Row 2: P0 [0: 2: 0: 0], K0 [0: 1: 0: 0], P1 [2: 2: 2: 0], 
K1 [1: 1: 1: 0], *P3, K1, P2, K1, rep from * to last 
5 [6: 2: 6: 3] sts, P3 [3: 2: 3: 3], K1 [1: 0: 1: 0], 
P1 [2: 0: 2: 0].
Row 3: K0 [0: 2: 0: 0], P0 [0: 1: 0: 0], K1 [2: 2: 2: 0],
P1 [1: 1: 1: 0], *sl 1, K2, pass slipped st over both 
of last 2 sts,P1, K2, P1, rep from * to last 5 [6: 2: 6: 3] sts,

Rowan Selects Rowan Finest.indd   28 24/07/2017   09:46




